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QUESTION 1

With RiOS v9.0 and later, what does a \\'topology\\' consist of? (Choose three.) 

A. Uplinks 

B. Networks 

C. Services 

D. Applications 

E. Sites 

Correct Answer: ABE 

The topology consists of the network, the sites, and the uplinks to the network for the sites. 

References: Riverbed Command-Line Interface, Reference Manual, April 2015 (page 453) https://
support.riverbed.com/bin/support/download?did=okk799647eeafskshi2utcul45 

 

QUESTION 2

With a server-side Interceptor deployment, once a TCP handshake has been completed between the server-side
SteelHead and the server, how will data packets sent from the server get forwarded to the server-side SteelHead? 

A. Destination NAT is performed on the Interceptor, changing the destination IP adress from the client IP to the
SteelHead\\'s IP. 

B. The server sees the IP address of the SteelHeads in-path interface as its client, so there is no need for the
Interceptor to forward it. 

C. They are GRE-encapsulated by the Interceptor, and forwarded using the SteelHead IP. 

D. The Interceptor tunnels them over the connection using port 7850 to the SteelHeads. 

E. The Interceptor applies the MAC address of the SteelHead\\'s in-path interface and forwards at layer 2. 

Correct Answer: A 

Once the initial handshake is completed, the interceptor use destination NATs packets to the steelhead so you will not
see this traffic if you are filtering on the original client and server address. References:
https://splash.riverbed.com/thread/5512 

 

QUESTION 3

What happens to "new" data that a Steelhead appliance has not seen before? (Select 2) 

A. Drop the new data 

B. Create a tunnel to optimize the data 
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C. Scalable Data Referencing creates and sends new reference pointers to the peer Steelhead appliance 

D. Compress the data using Lempel-Ziv and sends it to the peer Steelhead appliance 

E. Sends only the references for the data to the counterpart Steelhead appliance 

Correct Answer: CD 

 

QUESTION 4

What WAN traffic problems do Steelhead appliances overcome? (Select 3) 

A. Number of connections per second 

B. Data deduplication 

C. Bandwidth 

D. Latency 

E. TCP window size 

F. Optimization 

Correct Answer: CDE 

 

QUESTION 5

What action should be taken when the Steelhead appliance datastore is full? 

A. Disconnect all users 

B. Expand disk capacity 

C. No action is required 

D. Clean the datastore 

E. Insert a USB key for extra storage 

Correct Answer: C 
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